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Using the Commutative, Associative, and Distributive Properties
Use the commutative, associative, and distributive properties to fill in the blanks in each equation.  Then answer the multiple choice questions.

1.  21 + (8 + 3) = (21 + _____) + 3  
2. 2 + 9 + 10 + 11 = 11 + _____ + 9

3. _____ x (10 + 2) = 5 x 10 + 5 x 2

4. x + y = ______ + x

5. (15 x 2) x 4 = 15 x ( 2 x ____)

6. ______ x 8 = 8 x 7

7. a · b + _____ · _____= a · (b + c)
Which equation shows the distributive property?

A.  6 x 3 + 6 x 8 = 6 x (3 + 8)

B. 5 + (22 + 19) = (5 + 22) + 19

C. 20 x 10 = 10 x 20

D. 45 + 7 = 7 + 45

Explain how you selected your answer.___________________________________

___________________________________________________________________

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Using the Identity, Inverse, and Zero Properties
Use the identity, inverse, and zero properties to fill in the blanks in each equation.  Then, answer the multiple choice question.

1.  2 · ½ = _______

2. 6 x _____= 0

3. 52 x _____= 1

4. 35 + _______ = 0

5. ____+ 0 = b

6. ______x [image: image2.png]


 = 1
7. _____ + ( - 7) = 0
8. 12 x 1 = _____
Which property is shown in the equation below?

                   16 + (-16) = 0

a.  Zero property of multiplication

b. Identity property of addition

c. Inverse property of addition

d. Distributive property of multiplication over addition

Explain how you selected your answer.___________________________________ 

___________________________________________________________________

___________________________________________________________________

__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Extra Practice:
1.) Hope wrote the number sentence below.

                    2 x ½ = 1

Is Hope’s number sentence correct?  On the lines below explain why or why not.

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2.) Andrew wrote the following expression in his notebook.

                       64 + 3 + 18

Use the commutative property of addition to write Andrew’s expression five different ways.

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

3.)  Lamar wrote the number sentence below.

                             30 x (5 + 25) = (30 x 5) = 25

Is Lamar’s number sentence correct?  On the lines below explain why or why not?

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

4.)  Which expression is equivalent to 75 + 0?

A. 75 + 1

B. 75 x 2
C. 75 x 0

D. 75 x 1

5.)   Which property is shown in the equation below?

                                100 + (-100) = 0

A. Commutative property of multiplication

B. Associative property of addition

C. Inverse property of addition

D. Zero property of multiplication 
